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Solution

Run MA5 standalone;
|$ .. HEPTools/madanalysis5/madanalysis5/bin/ma5 testma _
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test.mad
import ProcDY1/Events/run_02/unweighted_events.lhe.gz as DY1
import ProcDY2/Events/run_02/unweighted_events.lhe.gz as DY2
import ProcDY3/Events/run_02/unweighted_events.lhe.gz as DY3
import ProcDY3/Events/run_03/unweighted_events.lhe.gz as DY3_cutdecayT

import ProcDY4/Events/run_02/unweighted_events.lhe.gz as DY4
import ProcDY5/Events/run_02/unweighted_events.lhe.gz as DY5

8 #import ProcDY6/Events/run_02/unweighted_events.lhe.gz as DY6
#
ﬂ
109 - - set main.stacking_method = superimpose
set main.lumi = 100
|_,—\_ set DY1.linecolor = black

N.of e + e — pairs (Lint

set DY1.linewidth =2
set DY3.linecolor = blue

10° T T T T T T : : set DY3.linestyle = dashed
0 25 50 75 100 125 150 175 200 set DY3_cutdecayT.linecolor = blue
M[e +e —] (GeV/c?) #

plot M(e+ e-) 50 0 200 [logY]
set selection[1].ymin = 1000
submit MA5plot
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